Accelerated Geometry CC Name: ,
MIDTERM Review Date: . Period:

This review Is only « guide to help you prepare for the midtberm. I€ does NOT cover
evergthing! Make sure gou look over old notes, quizzes, ond Lests.

1. Graph the complex puenber - 20
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4. Multiply 6104 — 6i). Write the result in the form
& -+ B,
CED =36 + 24
(G0 =36 = 244
G 36 = 249
10 36 4 240

ChD 4130 5. Find the values of x and y that make the
SEY 4 eguation =9 4 Bf = =54 4 (Ve true.
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(I %= 26 5. Find the complex conjugate of 5 & 7,
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8. Graph the comgdex numibier $ . 30
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O, Rewrite Cin rational exponent form.

T Rewerite 50 in radice
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4. Determbne whether 81 - 4907 4 a difference of

e sgquatres. 1 so, factor it H not, explain why
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) Mnt a ol 'f@wme of squares becagse

s riot a perfect sguare,
- Determine whether 1657 « 24x 4 9 s a perfect

re i so, Tactor 3 1 not, sxplain whe

CRY Mo, TEx7 2ot SCjUET e,
10 and 9 ¢ . ares, but 24x is
nat a perfect sqks:srezf, 50 168° - 245 4 % i
not a perfect sguare,

B Yes, 1m
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- Fx + Bis a perfort square.

5. Factor the trinomial x* + 5087 4 62
CEY (x + 253
(G (%7 4 50)°
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guaess gt chack,
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T Cannet be factored

9. Which expression s not a factor of the binomial
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Wikat sequenoe of transformatis

to map the graph of S =« onto the gqraph
of glx) = ~8x7

YR CER YO use

T8 A reflection across the y-axis and a vertical
stradehs by a factor of 8

3 A reflection across TP seaeis ancd &
hetizontal compression by a factor of &
# b

LE0 A reflection across the xaxis and 3
horizantsl streteh by o factor of 8

LB Avreflection scross the waxis and a vertical
eompresian by a factor of §,

2. Fingd the minimum or maximum value of
Flat s w? - T B, Then state the domaln
and range m’? aE@ funetian,

R The maximum value is §

B fall real numbersh Ryl v e -7
(G The mindmum value is —7,

Lodel oz 75 R {all real numbe
CHY The maximum value is 1,

Do ol w70 R {oll real nombeers)
0 The minimum value is ~7,

B fall real numberss By p e =71

3. The distanse o in mwiﬂrr ?raw!u by a skatebosre
¥

g ramy is related to the tme raveled ¢

i seconds. This iz x»mdviud v g h»e function
gty o 407 23t o 5 What is the maximum
distance the skateboard van travel, and at what
timse weoudd it achieve this distance? Round your

arvwears 1o the nearest hundredt.

500 meters in O seconds

3 AL2E mieters at 4.7 seconds

A.73% rreters at 0,73 seronds

T3 500 meters ab 0,47 seconds

1. Corvplete the soquare for the expresseon
e T W the pesultingg exproession

a4 i benonval squared,

2. #ind the zeros of 0 = &7 0 x4 9 by using the
Cuaratic Formula,

3. Firwd the peres of e function S = 2%+ 3% 4 00
Ly factor irag,
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4, Solve the equation s = 3~ 2 by completing
the epuiane,

SR x=dors e )
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{od

B Firal the zeros of gl = 4" x 2 5 by using the
Causadratic Forraula,

&, Pl the roots of the equalion My « 45 = G°

Ly facloring.

7. Daaring the eruption of Mount 56 He

Name:

Date: Period:

w oy TURg,
debis was wjocted ol a qeeed of aver 40 feel p
serand (00 mides por boury, The hetght o feet
af g rock sfected al an angle of 757 1 given by
thees squation ik = - 1685 4 425 & 8200, where
i the e o secnodds after the snagation. The
poock’s Bvorental distance iy feet froms the point
of wjection s oaiven by xlth = 1130 Assuming the
elecation of the sarounding courteyside 1s O feet,
wihat i the kevizental distance from the poing of
ejection toowhers the rode wonld have landed ?
Rt yousr anysever Lo the nearest {ood,

TR 2,231
T RN
(B das i
i VA

©

B, Sobve the equation 7 « 10 ¢ 25 = 54,

*P.180 #1-4, 6,7, 9-14, 16-21

(Your online fexthook s workingl)
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